Year 9 Knowledge Organiser

S

urds

i Va xflo=+[ab

i Ay coefficients nfront of +he surds are dealt with
i separately,

E ..

25 %34 =2 %3 x B x4 =20

| We can use this in reverse +o simplify the value inside +he
©osurd, Take out a factor of the surd which is 2 sduare
i wimber as tis can be square rooted.

e,

VaB=ie x V3 =43

Check your final answer to see if it can ke further
simplified. This will Wappen if you do ot spot the largest

factor when simplifying (similar to fractions).

! VIZ-\Axy&  Bhasa
i factor of
=3\% "/ 4 which is
‘/‘//f SAUAre
=3a x 2T
=3 %2 %7
= @Vfi

Surds of the same value can be added and subtracted

53+ 43 =a/3

Rationalising a surd means +o vot have av irrational

¢ namber on the devominator of the fraction. As west surds
o are irrational wimbers we veed +o remove any surds from

! the deveminator,

L © T order +o achieve these we veed to choose an

|| If there is only a single term on the denominator, multiply

1 eg,

i You caw expand brackets with surds in Hhem using worimal

methods
V5(3+43)= 3 x V5443 x5
=25+415

For a double bracket, use whichever method you would

normally use e.q. partitioning, multiplication grid, smiley

e (3:VE) (4 VB)-

face, ete.

3 x4=12
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i appropriate value to multiply both the wamerator and

. devominator by which will cancel sut Hhe surd,

¢ by e surd which is ou the denominator,
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: If there are 2 terms on the devomimator, multisly by the
L difference of two squares and simplify.
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=-G-2VZ-2V5- 1D
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2 +45
2445

Tip:

! The weed to rationalise a surd is usually a von-caloulator
L1 question as most moderw scientific caleulators will
rationalise a surd for vou just oy mputting it and pressing
.=, Shounld you weed to do it on a calculator paper you can
i wormally just use your calculator, Wowever, a complicated

g © ove such as the second example here may vot display

i properly and instead be given as a decimal!

=17+45



	Slide 1

